HINDI
Paper 1
(Two Hours)
dmswers to this Paper must be written on the paper provided separately.
You will not be allowed to write during the first 15 minutes.
This time is to be spent in reading the question paper.

- e mme given at the head of this Paper is the time allowed for writing the answers.

Attempt all questions.

The intended marks for questions or parts of questions are given in brackets [ ].
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Question 2
Write a letter in Hindi on any one of the topics given below :—
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e pesszee given below carefully and answer in Hindi the questions that follow. Use
T %erEs as far as possible :—
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Question 4

(a) Write the antonyms of any four of the following words :—
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- | Smemwo synonyms each for any four of the following words :— [4]
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